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ii) In numerical questions, give all
the steps of calculation.

152 347(WF) ™ Qv et anawers i o

2020 iV] Give chemical equationsl
_ wherever necessary.
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Instruction : - : ,
o i) All questions are compulsory. iv) Ao el _ 1
_ Marks allotted to each question T I %

are given in the margin.
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iii) U GareTs 37
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1. Four alternatives are given in each part

of this question. Select the correct
alternative and write it in your answer-
book :

a) Which one of the following

b)

J28746

molecules contains one lone pair of
electrons on the central atom ?

ij Cl, 1m) CH,

iii) CHCIL, iv) NH,. 1
The unit of rate constant for zero
order reaction is

i) litre. sec™’

ii) litre.-mol ™. sec"!

iij) mol. litre ™!, gec-1

“iv) mol. sec!, 1
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c)

d)

Q)

4

Which one is a disaccharide ?

i)  Glucose i1)  Fructose

iii) Sucrose iv) Xylose. 1
How many moles of water are
present in 180 gm of water ?

i) 1 mole i) - 18 mole

iiifj 10 mole  iv)] 100 mole. 1
On increasing the dilution the
specific conductance

i)  increases
-1i)) decreases

ili remains constant

1v) none of these. 1
Potassium sulphate is

i)  Ionic solid

i1)) Metallic solid

1i) Covalent solid

iv) Molecular solid. 1

9|t g G9d dFed (CCP) el
T §1 9 fred 3t X s
A g3 fh 36 THH FA H BRI
g 4086 pm ¢! dR & TAE Wt
T FINTT ( Ag = 107-9) 2
0°C W 0-45 U To[big @t 250 fedl
Sl H Ol faorae SFET TEn) SEe
W 8 71 § 2 (R = 00821 .
aigHsd / feit 7 oot ) 2
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Zn(s) + 2Ag* (ag)— Zn*?(ag) + 2Ag(s)

fard g =-0-76 Vadl
Zn*2/zZn
E° =+0-80 V. 2
Agt/ag '
¥) WUTE ISRW H wHened a &
IEYT ST | 1+ 1

a) Silver forms cubic closed pack (CCP)
lattice and X-ray studies of its
crystal shows that the edge length of
its unit cell is 408-:6 pm. Calculate
the density of silver (Ag = 107-9). 2

b) A solution of glucose containing
045 gm in 250 ml water was
prepared at 0°C . What is its
osmotic pressure ?

(R = 0-0821 litre.atm/degree/mole)
2

c) Find out the e.m.f. of the cell in the
following reaction :

Zn(s) + 2Ag" (ag)——> Zn*?(ag) + 2Ag(s)

Given : E +2 =-0-76 volt and
. Zn “fZn

L-]

.Eﬁg*Mg =+0-80 volt 2
d) Explain negative catalysis and give
two examples. ' 1+1
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The depression in freezing point
on dissolving 171 gm sucrose
( mol wt = 342 ) in 100 gm water is
10-93°C. Calculate molal depression
constant (k fJ of water. 2

Explain the following :

i)  Kohlrausch's law.

ii) Two differences between
Electrolytic cell and Galvanic

cell. 1+1
Explain.  coagulation with an
example. 1+1

Cnmpa}re the four | properties of
phophine gas with ammonia gas.
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HHHYT A B GHARY a9l 36 Al e

T fefEn

1+1+1

frt arfafiear o oof =i @ 4, B, €

<l 93 U4 A1y fefaEu -

CHSN[-[2 fﬂ_, CH30H ..i,
KCN . Sn/HCl

B - C > (321-151*~II-L2

| 1+1+1
M Y TN ? (FEd  qOEEe
gt fefan)
i) TEAA, ii) AEAE-6, i) Stehelge |
1+ 1+1
yiowifaes &1 &d ¢ 2 el @t wfesifas
& 91 Tar 39 fafEn 1+1+1

Explain transition elements and
write their two main properties.

1+1+1

Complete the following reaction
and write the names and formulae
of A, B, C:

CH,NH,—2— CH,OH—5
. KCN Sn/HCl _ |
B, c—S0/HEL , ¢ 4 Ny,
14141
"7 1rn over
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“iii)  K,[Fe(C,0
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How will you prepare ? (write only
chemical reactions)

i) Teflon, ii) Nylon-6, iii) Bakelite.
1+1+]

. What are antibiotics ? Write the

names of any two antibiotics and
their uses. 1+1+1

TAARY | TF 99H Hife =t aififmar o
60 Tz & 75% gt & s ¥ =™
foRar #Y ar-31g wa i

~ (log;y 2 = 0-3010) 2+ 2

FR F G HTEF F AW a9 G
ffggi sm e ¥ g TS
Fremeor =it fafy &1 ovig Fifve ) ey
TR gHeT fefian | 1+2+1
T g feive @ ¥ 2 SRR gm
ey d F @ jupac ¥ W
foifEu -

i) [Fe(H,0)]Cl,

i)} [Co(NH,),80,]NO,

aal. 1+1+1+1



)

b)

J28746

9 347(WF)
TR § FeRis-i= a9 @i faf &
et wEteRer qu1 e & QY 3o
. : b
i) H,S0, @ 3ufdfd § ¥ HNO,®
i) AICL sufafa d cH,Cl @
iif) Cu,0 ®I Iufeald d NH, H
1+1+1+1
Explain the difference between
molecularity and order of reaction.
A first order reaction is 73%
complete in 60 minute. Find the
half-life time of this reaction.
(log,o 2 = 0-3010) 2+2
‘Write the name and formula of main
ore of copper. Describe the method
of extraction of pure copper from
copper pyrite. Write necessary
chemical reaction. 1+2+1
What are monodentate legands ?
Explain with example and write
IUPAC name of the following :
i) [Fe(H,0)1Cl,

i) [Co(NH,),SO, | NO,
iii) Ky[Fe(C,0,),]. 1+1+1+1

~™urn over
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d)

Write chemical equation of the
laboratory method for the

preparation of chlorobenzene and
its chemical reaction with the
following :

1) Concentrated HNO in the
~ presence of H,80,
ii) CH,CI in the presence of AICL,
iiij NH; in the presence of Cu,0.
1+1+1+1
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Tl = & 9y tantis sfilE =
qHor fafgg :

i)  CH,COCI

i) PCI

iii) THHI . 2+ 3
A B TR 2 (FES TEE
et fefian) |

i) U Colee @ AR Teieet
i) Afyer geieer ¥ ufafeen o

iii) T @ fufiper sper

iv) 5Tt @ fememeets |
v) frmerdasia 1+1+141+1
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i) X, /ST P
>
ii) H,0
COOH
| HNO
1ii) 3 > C
= H,S0,

NH
iv) RCOOH —> >

GeteoT §RT 9 1 FEEsy

i) %ﬁvm.aqﬁ:m

i) FeArEE AR

i) TeRIeT W 2+1+1+1
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i two methods for _the
Describe n of ether and write

reparatio _ :
gqugijons of its chemical reactions

with the following :

ij CH,COCI
ii) PClg
iii) Hot HI. 2+3-

OR : )
How will you prepare (write only

chemical equations
i} Methyl alcohol {rom ethyl

- alcohol ?

iij Acetic acid from methyl
. alcohol ? '

iif) Picric acid from phencl ?

iv} Phenolphthalene from phenol ?

v) Benzene from phenol ?

1+1+1+1+1

Complete the following reactions

and write the names and formulae

of A,B,C,D E:

. i) LIAIH,
ijj -RCOOH-

ii) H5O*

s . d P
i) RCH,COOH %{f—;
COOH

i) conc. HNO5 c

conc. HQSOT

y NH
iy RCOOH—> D&, E

1+1+1+1+1
OR
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Write the chemical €quation of twe
general methods for the preparation
of ald:hyde and ketone and also
explain the following with chemical
equation :

)  Cannizzaro reaction

i) Haloform reaction ,
i) Aldol condensation. 2+1+1+1

F W w0 e Qe g

st oo e F o T aate

JTYTsHEaT 1 g fefan

i) HCOOH

ii) Pb(NO,),

i) C,H OH. 243
YT ' _

w1 @da ¥ el (A AR

getetor fafae) —

i) Cu?* @ H S T

iii) foeeR aeiRgs awia # amiad
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iv) Wﬁ@@?*wrﬁ

(e ST € 2
At ® B de wewns @

i ¥ 7 Llel+lel

= &1 TR ¢

i)

i)
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ii)

i)

ferfa | |
FHIAT | FAR e W ek Tecs i

T |

ferifo A i ) ¥ wi- S

&1 gt & 2 2+2+1
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T T 2 A W g W
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frafm ¢ @ At T € 2
THH FH Y B S T AT H AN
AR | 2+2+1



7. a)

J28746

15 347(WF)

Describe with diagram the
manufacture of sulphuric acid by
contact process and also write
related chemical equations and also
write the chemical reactions with
equations of the following :

i)  HCOOH

i) Pb(NO,),

iii) C,H.OH. 2+3
OR

What happens when (write chemical
equations only) —

1))  Chlorine gas is passed in the
hot and conc. caustic soda

solution ?
i) Ammonia gas reacts with
aqueous solution of Cu®* ion ?

iif) Ammonium hydroxide is added
in silver chloride ppt ?

iv) Ammonium chloride is heated
with slaked lime ?

v) Ozone reacts with lead
sulphide ? I+1+1+1+1
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Explain the following :

1)

ii)

iti)

How will prove the presence of
5-0H group-in glucose ? Write
chemical equation also.
What are. peptidesl ? Classify
them  and write . their
importance in our lives.

Which diseases can be caused
by deficiency of Vitamin A ?

2+2+1
OR

What are proteins ? Explain

- important function of protein.

Describe the structure of DNA
with the help of a diagram.

What is the chemical name of
vitamin C and write the name

of a disease caused by its
deficiency. 2+2+1




